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QUESTION 1

Which two properties files would be considered for changing the order of sections displayed on the Self Service User
Interface and text of the actions within the sections displayed? (Choose two)

A. SelfServiceScreenText.properties
B. SelfServiceHomePage.properties
C. SelfServiceLabels.properties

D. CustomLabels.properties

E. SelfServiceUl.properties

Correct Answer: AE

QUESTION 2

Which TWO of the following are valid recertification policy target types?
A. Accesses

B. Services

C. Policies

D. Groups

E. Users

Correct Answer: BC

QUESTION 3

A IBM Tivoli Directory Integrator (ITDI> assembly line has been configured as the IBM Security Identity Manager (ISIM)
identity feed. ISIM is setup to only accept connections over SSL using self-signed certificate. What must be done in
order for ITDI to communicate with ISIM?

A. ISIM\\'s self-signed certificate will need to be imported as a trusted signer certificate in the ITDI certificate store.

B. The ISIM default truststore will need to be updated before connections can be made.

C. Since ITDI is a component of the ISIM solution no specific configuration is required.

D. The service in ISIM will need to be configured for SSL.

Correct Answer: A
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QUESTION 4

When gathering requirements for Organizational tree setup, which TWO entities are referenced?
A. Admin Domain

B. Organization

C. Department

D. Division

E. Forest

Correct Answer: BD

QUESTION 5

A user is a member of two ISIM groups. Each group is a member in two separate Access Control Items (ACls), ACI1
and ACI2 on Static Organizational Roles. Each group also has a separate Ul View associated with it, called Viewl and
View2.

Which statement is correct in describing the access granted or denied to the user?

A. The user will be able to create a static organizational role via the Java API if access to Create operation is granted in
ACM and ACI2, and if Viewl or View2 allow access to the Manage Roles task.

B. The user will have access to create a static organizational role if its granted by ACI1 regardless of whether ACI2
grants, denies or provides none access to the Create operation.

C. The user has a view of only the common tasks provided by both Viewl and View?2 in the ISIM Admin User Interface
or ISIM Self Service User Interface.

D. The user has a merged view of all the tasks provided by Viewl and View2 in the ISIM Admin User Interface or ISIM
Self Service User Interface,

Correct Answer: C
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